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Multiply the following
1.

Th H T

3. Multiply 6735 X9
a) 61605
c) 65605

4. Multiply 29809 X 5

a) 149045
c) 144905
5. Multiply  939X9X6
a) 57006
c) 50706

6. Multiply 1247 X9 X 5
a) 56151

c) 55611

7. Multiply 19 X 600

a) 11400

c) 11600

8. Multiply 30 X 4000
a) 12000

c) 120000

Multiplication - 1

2.
Th
2
X
b) 60615
d) None of these
b) 194054
d) None of these
b) 56700
d) None of these
b) 56511
d) 56115
b) 11500
d) None of these
b) 1200

d) None of these
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9. Multiply 20 X 8 X 500

a) 8000 b) 80002

c) 80000 d) None of these

10. John has 65 hundred dollars notes. How much money does he have?

a) 650 b) 65000

c) 6550 d) 6500

11. A truck carries 175 bags of rice. How many bags of rice will be carried in 45 such trucks?
a) 6875 b) 7875

c) 7785 d) None of these

12. There are 8 book racks in a room, each rack contains 55 books and each book has 1500
pages. How many pages are there in total?

a) 650000 b) 60000
c) 65000 d) 660000

13. A man went to a store and bought many things. He gave 109 fifty dollars notes and 95
twenty dollars notes. How much money he paid to the cashier?

a) 5450+ 1900 b) 7250
c) 7350 d)  BothA&C

14. There are 244 chocolates in a packet. Find the number of chocolates in 200 such packets?

a) 47800 b) 48600

c) 4860 d) 48800
15.581X ___ =58100

a) 10 b) 110

c) 100 d) None of these

16. There are 25 sections in a school. Each section of the school has 45 students. If a student
contributes $ 5 for charity, how much money is collected from the school?

a) $ 6525 b) $ 5525
c) $5625 d) $ 5725
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17. There are 365 days in a year, in a day there are 24 hours and 1 hour is 60 minutes. How
many minutes will be there in a year?

a) 525600 b) 526500

c) 562000 d) 365 X24 +60
18.583 X38X 84 = X583 X84

a) 83 b) 84

Q) 583 d) 38

19. 818 X 9815 X =0

a) 815 b) 9815

c) 50 d) 0

20. What number can be multiplied by 5787 to give the answer 57877
a) 0 b) 10
c) 2 d) 1

21. Fill in the blanks

Th H T 0]
2 1 3
X 2
4 6
a) H=80=2 b) H=6 0=4
c) H=20=8 d) None of these

22. Merry knows that 2 dogs are given 10 cups of food and 3 dogs are given 15 cups of food.
How much food will be given to 10 dogs?

a) 15 cups b) 16 cups

c) 45 cups d) 50 cups
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23. Fill in the blanks boxes

Th H T
1 5 2
X 1 5
6 0
1 5 6 0
8 0

24.1f 3775 X 25 = 94375, then find 3774 X 25 =

a) 94275

c) 94350

25.1f 4565 X 15 = 68475, then 4566 X 15 =

a) 4565

c) 68495

26. If 250 X 65 = 16250, then 250 X 64 =
a) 16000

c) 16350

27. If 250 X 65 = 16250, then 250 X 66 =
a) 16000

c) 16350

28. Fill in the blank boxes.

2 4 8
X 9
1
0
6

b)
d)

b)
d)

b)
d)

b)
d)

94175

None of these

68490

None of these

16250

16500

16250

16500
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